=LPDB
*|XSD SRINiDG 7/

3 7\J

$QDIRPLD FJiRZIHND

7N\J

UZ GU 3LV -DUR) $%

7N\J

$QDIRPLD FJ{RZIHND
UZ GU3LLV -DUR) $%

7N\J

+VIRUD NXUXUN ILJ\FTQHI
iZ GUKDE SIRI 8-~

7N\J

+VIRUD NXUXUN ILJ\FTQHI
iZ GUKDE SIRI 8-~

7N\J

OHIRG\ XFTHQID VIC L
VIXGIRZDQD Z GU
%aEHIHZVND $IQHVIND

*RJGHN ODIRIHSV]D

THIHVD $ =/
&
- INJ  ]DICFID

PLOXI

=3

=3

/& /& ODIRHSVI\ (LIXV] $% ODRRHSVI\ (LIXV] $% =DICFDRQUQH =)/
)/ & DN/ & -
7\G] ZNJ  ]DICFD =N ]DICFD
/HNNRDIHINND GZ  PJU PLOXI PLOXI ™N
OIFKDIVND $IFID $&6 $ .
$86 % $&6 & =)/ 7N 7N OHIRG\ XFIHQID VIC L
& VIXGIRZDQD Z G 3l
=3 3UND UCF]QD UZ  1RZD 3UND UCF]QD UZ  1RZD $QQD =DICFLD RQ (IQH
N OIFKD: $&6 $ $&6 % N OLFKD: $&6 $ $&6 % D70
$86& =)/ & $86& =)/ & =N ]DICFID WZDia
=3 =3 P
7\6]
< JHNNRDIHINND iZ  PJU 7]
a8 OLIFKDIVND $IFID $&6 $
= $&6% $8&6 & )/ 6SHE
) 2 QDXFI\
I ) 3RGVIDZ\
z =DICFID Z INJRGQLX SVAFKRIRJLL
& RGE\ZDIg IDN Z D
n F]ZDUIHN QDXF]\FIHL
Gl
- RUQDFND
6NZDUD
QTEHID =
%
¥/ 7
1-$ )
/ z
)/
-"8&.8
1$/
3313
8&.8 1$
/ 3313
/
*|
1IRGQH ]
8626
7N 7N 7N 7N
*PQDVIAND 4Z PJU *PQDVIAND 4Z PJU =DEDZ\ L JU\ UXFKRZH 3UND QRTQD iZ  GU 3lV
%REUD -DFHN $ %RELD -DFHN $ iZ PJU%REUD -DFHN _DIRI $&6 $ $&6 %
D/ & D/ & $ N/ & $&6 & D)/ &
=3 - \J  ]DICFD =3 - N\J  ]DICFD =3 =3
=z PLOXI PLOXI
I 7N 7N
z 7N
N 3UND QRTQD Gz GU 3lLV =DEDZ\ L JU\ UXFKRZH
7HRUD Z\FKRZDQD _DIR) $&6 $ $&6 % iZ PJU%REUD -DFHN
I\FIQHIR 0Z GU $86& :)/ & $ /&




=LPDB

*UXSD 5R]NiDG N/ 3 7\J
7 7 7 7 7\6] 7\6]
3lHIZV]D SRPRF =DEDZ\ L JU\ UXFKRZH 3UND QRTQD GZ  GU 3LV
JHNNRDIHND GZ PV SUTHGPHG\FIQD (Z  .X S\IPIND LIDQHF GZ P S\IPIND LIDQHF GZ P iZ PJU%REUD -DFHN _DIRI $&6 $ $&6 %
OLFKDIVND $IFID $&6 $ EHWNL ODUXV] $ 30 61\PDQHN 3UDUFTAN 30 6T\PDQHN 3UDIF\N $ D/ & $&6& 1)/ &
$&6 % $&6 &  z)/ YA ODUID $&6 $(52%.& ODUID $&6 $(52%.& =3 tnJ J0CAD =3 tnJ  J0CAD
a & D/ & D/ & IDN ZH ZIRUHN IDN ZH ZIRUHN
3 =3 =3 -NJ  JDICFID =3 -NJ DICFID
i IDN ZH ZIRUHN IDN ZH ZIRUHN 7\6] 7\6]
T 3UND QRTQD iz Gl 3l =DEDZ\ L JI\ UXFKRZH
™ _DIR) $&6 $ $&6 % iZ PJUY%RED -DFHN
3lHIZV]D SRPRF $&6& 1)/ & $ D&
SUHGPHG\FIQD 0z X =3 :I\J  IDICFD =3 :I\J  IDICFD
EHWNL ODUXV] $ IDN ZH ZIRUHN IDN ZH ZIRUHN
D)/ &
Z NJ]JDICFD  PLQ
7\6] 7N 7 7N 7
3UND UGF]QD iZ 1RZD
N OIFKD: $&6 $ $&6 % 7HRUD Z\FKRZDQID 3RGVIDZ\ EIRRIL iZ G BLDINyZND (Z G JHNNRDIHND GZ  PJU
$86& )/ & II\FJQHIR 4Z GU U=\FK OIFKDi $ = RINQD -DQXV] $&6 $ OLFKDIVND $IFID $&6 $
_ iy = IRJGHN ODIRHSV]D D/ & $&6% $&6 &  z)/ $&6 % $&6 & )/
= =Dl
ﬁ\ JBSZRDQJ D =DICRD] THIVD $% D & &
z SUTHQIHVLRQH QD ING] /& _ 7N -3 =3
< Flz ©NJ  ]DICFID
3 PLOXI 6IDINyZND 0Z Gl 7N
N = RINQD -DQXV] $&6 $
T —— $ach Se6& =)/ 3RGVIDZ\ EIRRIL 0Z G
3UND UGF]QD iZ 1RZD U=\FK OIFKD; $
N OIFKD: $&6 $ $&6 % =3 D/ &
$86& )/ &
=3 8zDJD =DICFID]
NJ SRQ
SUJHQUHVIRQH QD ING]
Flz
7N 7N 7N 7\G] 7N 7N
$QDIRPID FJRZIHND = |||6SRINDQIH
> -HVIRULD NXUIXUN ILJNFQHI 7HRUD Z\FKRZDQID GU = RINQD -DQXV] =DI¢ |||RUIDQLIDF\IQH GU 5DN 3RGVIDZ\ EIRRIL Z G = \NiDG PRQRIUDIFIQ\
T Z Gl KDE SIRI 8-* II\FIQHIR Z Gl FDRQUQH =)/ JHRQ GU = RINQD =\FK OLFKDi =DIFID RQ = SIRI 7VRV $QDIRW
S ODRHSVI\ (LIXV] =D ~URTGHN ODIRHSVID E -DQXV] P.JU%REU WH =)/ = =DICFDRQUQH =)/
7 CRDRQUQH =)/ THUHVD /=DUCF_LD RQ IQH DFHN'S =)/ - NI JDICFD NZDia E _
: _ 3 : = )0 = Pl =N\ ]DICFD WZDia
=N ]DICFD =N ]DICFD PIQ
PLOXI PLOXI
o
o




